HEIGE G R E
(H) V26 45 4 A 1 H (&) PR 274 3 H 31 H

%35

HEFR H AR FE R RITAF S8 TR L S
- JVUN 93,851,510 0 93,851,510
TR B 93,851,510 0 93,851,510
FLHISZRF A BHA 1, 864, 600 0 1, 864, 600
FLISZRF BRI 1, 864, 600 0 1, 864, 600
”7% TR R Fe A B AU 10,717, 157 0 10, 717, 157
TR Tk e A Bh AL 10,717, 157 0 10, 717, 157
HE A 248, 257 0 248, 257
HEA 248, 257 0 248, 257
FEEBIAG (1) 106, 681, 524 0 106, 681, 524
NF S HY 85, 906, 726 0 85, 906, 726
Tk B As 65, 394, 002 0 65, 394, 002
B E T4 4, 143, 454 0 4, 143, 454
IHHRER G 4, 494, 827 0 4,494, 827
JRHE L B 938, 700 0 938, 700
15 E R F 10, 935, 743 0 10, 935, 743
FHHE I 11, 718, 055 0 11, 718, 055
T = A 1,172,929 0 1,172,929
TRE 2 705, 970 0 705, 970
i THE# 335,110 0 335,110
% HFEn Y 1,634, 759 0 1,634, 759
& JRIE B E 690, 673 0 690, 673
1 BRBHE 102, 337 0 102, 337
é; [E5=¢ 914, 721 0 914, 721
7 1S E 300, 965 0 300, 965
Y| IRHE 47,874 0 47,874
W #pEs 2,449, 714 0 2,449, 714
FHCB 383, 789 0 383, 789
HERBOE 364, 690 0 364, 690
SRR 2,264, 378 0 2,264, 378
Moty 350, 146 0 350, 146
R 11, 436, 464 0 11, 436, 464
fa Bt 7,608, 235 0 7,608, 235
PR A2 478, 630 0 478, 630
BB 1,238,031 0 1, 238, 031
JRIE B 1, 888, 804 0 1, 888, 804
B 43, 859 0 43,859
THAERL & 162, 292 0 162, 292
MEH 16, 613 0 16, 613
TR A 15 E0 2,290, 734 0 2,290, 734
AT 15 0 2,290, 734 0 2,290, 734
FEGBME () 111, 351,979 0 111, 351, 979
NGB 22 (3)=(1) - (2) 4, 670, 455 0 4,670, 455
TSI SNTREE N PN 4,630 0 4,630
* RISV R VN 4,630 0 4,630
5 | e b n i 0 1
b eSS N NN 1 0 1
@) HIEFE MG (4) 4,631 0 4,631
50’)* [T S 1 0 1
a | ARBRK 7y [l N4 5 H 1 0 1
L EH SHE (5) 1 0 1
FEIRE SN FEEA (6) = (4) - (5) 4,630 0 4,630
RN S 240 (T) = (3) +(6) -4, 665, 825 0 4, 665, 825
b BRI (8) 0 0 0
Yl BRI K HE 9) 0 0 0
o |FEBII S5 (10) = (8) - (9) 0 0 0
YR B S AR (11) =(7) +(10) -4, 665, 825 0 4, 665, 825
TR ek U S R AR (12) 96, 048, 586 96, 048, 536 0
@ U R AT BN S 25 4E (13) = (11) + (12) 91, 382, 761 96, 048, 536 4, 665, 825
W [EEAS IR (14) 0 0 0
& [ FEARSH A (15) 0 0 0
B |2 ofty o w4 r 4 IAA (16) 0 0 0
llé Z DA DFENE AESLFE (17) 2,261 0 2,261
st | AFERBDNLERNIE 881 0 881
| SRR AR 252 0 252
DLt e AL R A 252 0 252
= PRB IR « 3% 0 R AR T S FE AR 876 0 876
TR BN 3 72245 (18) = (13) + (14) - (15) +(16) — (17) 91, 380, 500 96, 048, 586 -4, 668, 086




